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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr RMS (ppm)

el L

(wdd) sy

6'TILE
8'TTLE
L'TTLE
9'TILE
STILE
v'T1.E
€TILE
¢TILE
TTILE
0'TTLE
9'0T.LE
S'0TLE
7'0T.E
€0T.LE
¢'0TLE
T0T.E
0'0T.E
6'60.E
8'60LE
1'60LE
9'60LE
§'60LE
¥'60LE
€'60.E
2'60LE
T'60LE
0'60LE
§'90LE
¥'90LE
€90.8
2'90.E
T1'90LE
0'90LE
0€0LE
1'20LE
9¢0LE
§'¢0.E
¥'c0LE
€¢0.E
¢'¢c0LE
T'20LE
0c0LE
0'669¢€
8'869¢
1'869€
9'869¢€
G'869€
¥'869¢€
£'869¢€
2'869¢€
1'869¢€
0'869¢€
2'769¢€
T'¥69¢€
0'v69¢€
6'€69¢€
8'€69¢
L'€69€
9'€69¢€
S'€69¢€
7'€69¢€
£'€69¢
2'€69¢
T'€69€
0°'€69¢€
8'C69¢
1'269¢€
9'¢69¢
G'¢69¢€
¥'¢69¢€
€'¢69¢€
2'269¢
T1'¢69¢€
0'¢69¢



6000

4000

2000

-2000

-4000

lagr_asym_usl (ppb

X2 / ndf

pO

68.34 /73
527.9 +152.1

S N
HONNEFIEIONC

AONCXNENINNETNC

1D pull distribution

Mean 0.004654 +0.1117
i Std Dev 0.961: 0.07899
181
B Underflow 0
16 Overflow 0
L X2 / ndf 3.74418
14
i Constant 16.59 + 2.8
12~ Mean  -0.03161%0.11147
L Sigma 0.9084 +0.1208
101
8_
6_
4
2 —
0'|||||||| | IR I
-8 -6 -4 -2 0 2 4 6 8




lagr_asym_usl RMS (ppm)
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lagr_asym_us_dd (ppb) 1D pull distribution
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lagr_asym_us_dd RMS (ppm)
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